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8(c)(i)

invertebrate diversity increases to 5.8/up to pH 6.7/6.8;
invertebrate diversity decreases from 5.8/after pH 6.7/6.8;
[Aallow 1 mark if increase and decrease described but no values or
incorrect values quoted]

9% organic matter decreases to 36%/up to pH 6.2-6.4;
9% organic matter increases from 36%/after pH 6.2-6.4;

[Aallow 1 mark if decrease and increase described but no values or
incorrect values quoted]

as invertebrate diversity is high, % organic matter is low/negative
correlation;
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3(a)i)

67840;
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2(b)

18x17 or 306
and

(2x1)+ (BX7)+(3x2)+(5x4) or 84;
(306/84) = 3.64;

[Award 2 marks for 3.64 with no working]

[Allow 1 mark where correct calculation made based on figures with
asingle error]

[R3.6]
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6(b)

90 000 - 52 000;

38 000 (fewer);

[Award 2 marks for correct answer with no working]
[Award 1 mark for 90-52=38 or 38]
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4(c)(i)

120 x 97 = 11640 and 11640 x 5/100 = 582;
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all have equal chances of being caught/capture does not affect max2 | AO3

survival 315

marked individuals are identifiable;
population evenly mixed;
no natural population change/no births or deaths/no migration;
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5(d)

(26x25=) 650 and [(4x3) + (10x9) + (12x11) =] 234;

650/234 = 2.78;
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5(d)

51x50 / (2+72490+240+42+42)

52;
[A5.23)

or 2550 / 488;
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Density is declining/negative trend/population is reducing;





